HEEL UNIT

ES Cuia Guia DE Einstellbare Zuhaltung
IT Contrasto Guida PT Guia Cunha FR Base de Verrouillage

@ Cad Insertion Point

A10.1

R*01 Rz6.3

Patented

DIN912 RP
2xDING13 K

Mat. 1.2312
~1.080 N/mm?

|55

_-ﬂ-ﬂ----“ﬂ--ﬂ

CG.603035 29 437 M6x25 081015 180.000

CG.604035 60 40 35 25 23 6 17 29 437 22 M6x25 10 101015 320.000
CG.754049 75 40 49 30 32 7 20 39 58 22 M8x30 12 101020 320.000
CG.864857 86 48 57 35 36 8 24 44 65 28 M8x35 16 121025 480.000

Installation Guidelines
Consejos de Instalacion - Richtlinien zur Installation - Consigli di Installazione - Instrugdes de Instalagdo- Mode d’Installation

Mold Closed

T
2xDIN912

CRo

PORTA

Max. 1




